CS 480 Artificial Intelligence                                           Fall 2009
Home Work # 5  Due: Nov 12, 2009

1) Sam, Clyde and Oscar are elephants. We know the following facts about them:
1) Sam is pink.

2) Clyde is gray and likes Oscar.

3) Oscar is either pink or gray (but not both) and likes Sam.

Use resolution refutation to prove that there exists a gray elephant that likes a pink elephant.
2) Write a prolog function sum_test that takes as input two lists L1, L2 of integers and another integer t as argument and returns some x in L1, y in L2 such that x + y = t, if such a pair exists. It should return no if such a pair exists.
Examples:

?-sum_test( [ 2, -6, 7, 4, 13], [8, 2, -10, 6, 5], -8)

2

-10

yes

?-sum_test([2,-6, 7, 4, 13], [8, 2, -10, 6, 5],  20)

no

Include your code as well as the screen shot of the output for the above two inputs.
